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H H/om 49| 21| 11| 16| 48] 33,700| AO0.1 0.4 1 1 0 1 6,600 Al.5 0.0 20, 10 3 7| 20| 71,100| AO0.4 0.6 6 6 0 6] 18,300 0.0 0.0 76| 31| 21 23] 75 42,000 AO0.2 0.4
56w 31| 15| 13| 3] 31, 28,800 0.0 0.4 - - - - - - - 9 1 3 5 9| 57,1000 A0.5] A0.2 1 1 0 1 8,700 0.0 0.0] 41 16 17 8| 41| 34,500| AO0.1 0.3
N Ao 34| 7| 11| 15| 33| 32,600| AO0.2 0.2 1 0 1 1 5,400 A1.8] Al8| 14 1 7 6/ 14| 63,4000 A0.4 0.0 5 4 0 5/ 15,000 1.0 2.7 54 9| 22| 22| 53] 38,5000 AO0.2 0.3
2ono 200 0 2 2| 12,200/ A0.8) A0.8 - - - - - - - 2 0 1 1 2| 18,400, A0.9] A0.6 - - - - - - - 4 0 1 3 4] 15,3001 A0.8| AO0.7
TN 302 1) 0 3 18,600 0.7 2.1 - - - - - - - 2 0 2 0 2| 38,300/ AO0.3 0.0 - - - - - - - 5 2 3 0 5| 26,400 0.3 1.3
-+ 0 Mo 30 0 2 1 3] 18,300 0.0, AO0.1 - - - - - - - 3 0 2 1 3| 25,1000 A0.2] A0.2 - - - - - - - 6 0 4 2 6| 21,700 A0.1| A0.2
= R 2000 2, 0 2] 30,900 0.0 0.0 - - - - - - - 2 0 2 0 2| 37,600 A0.2 0.0 - - - - - - - 4 0 4 0 4] 34,3000 AO.1 0.0
e o 41 1 2 1 4| 12,400| A0.4) AO0.1 - - - - - - - 3 1 1 1 3| 25,700 A0.8 0.3 - - - - - - - 7 2 3 2 7| 18,100| A0.6 0.1
SN B 5 4/ 0 1 5/ 17,400 0.7 2.2 - - - - - - - 1 1 0 0 1| 14,300 0.0 0.7 - - - - - - - 6 5 0 1 6/ 8,500 0.6 1.9
ST 5/ 2, 2 1 5/ 11,300 0.6 0.8 - - - - - - - 2 0 2 0 2| 18,700 0.0 0.0 - - - - - - - 7 2 4 1 7| 13,400 0.5 0.6
W &P & 138| 52| 44| 40| 136| 28,900 0.0 04 2 1 1 2 6,0000 A17 AO09 58 14, 23 21 58 55400 A04 0.2 12 11 0 12| 16,100 0.4 1.1 210/ 67 79| 62| 208 35300 AO.1 0.4
oy my 20 0 0 2 2 7,400 Al.4l Al4 - - - - - - - 1 0 0 1 1| 16,400 AL.8] Al8 - - - - - - - 3 0 0 3 3| 10,400| Al.5| Al5
Sk o U WY 20/ 0 2 2] 6,800 A28 A29 - - - - - - - 1 0 0 1 1] 10,400 A2.7| A28 - - - - - - - 3 0 0 3 3| 8,000 A28 A2.9
% 4 R My 20 0 0 2 2| 11,800 Al.6| ALS - - - - - - - 1 0 0 1 1] 17,300 A2.2| A23 - - - - - - - 3 0 0 3 3| 13,600 A1.8] AlL.8
B By 301 20 0 3 9300 0.0 0.3 - - - - - - - - - - - - - - - - - - - - - - 3 1 2 0 31 9,300 0.0 0.3
K oy 3] 0 o 3 3 9,700| ALT| AT - - - - - - - 1 0 0 1 1| 13,400 Al.4| Al5 - - - - - - - 4 0 0 4 4] 10,7001 A1.6| Al.6
[ & ff A 300 2 1 3 9,000( A0.3| A0.3 - - - - - - - - - - - - - - - 1 1 0 1 3,500 0.0 0.0 4 0 3 1 4 7,600 A0.2| A0.2
W T 20 0 1 1 2| 10,500| A0.9, A0.9 - - - - - - - 1 0 0 1 1] 13,500 Al.4| AlS5 - - - - - - - 3 0 1 2 31 11,500 A1.0] Al.l
#om oAy 20/ 0 2 2 8800 ALl All - - - - - - - 1 0 0 1 1] 13,200) A0.7| A0.8 - - - - - - - 3 0 0 3 3] 10,200) AL.0| ALO
B 30t W 2000 0 2 2| 10,900 Al1.3] AL3 - - - - - - - 1 0 0 1 1| 18,600 Al1l.6] Al.l - - - - - - - 3 0 0 3 31 13,500 Al.4| Al.2
+t 7 Hr 20/ 0 2 2] 11,300] AL3| AL3 - - - - - - - 1 0 0 1 1] 16,800 A2.3| AlS8 - - - - - - - 3 0 0 3 3] 13,100 Al.6| AlS5
NoF T 20/ 0 2 2] 8300 Al2| Al2 - - - - - - - - - - - - - - - - - - - - - - 2 0 0 2 21 8,300 Al2| Al2
ook mr 3000 1 2 3 5500 ALl All - - - - - - - 1 0 0 1 1] 12,000/ Al.6| Al - - - - - - - 4 0 1 3 41 7,100 Al.2) Al.2
Ny A 20 0 0 2 2 5,800/ Al.5) ALS - - - - - - - 1 0 0 0 0 11,5000 A2.0 - - - - - - - - 3 0 0 2 2 7,700 AL7 AlS5
BUWHEET 5 3] 2 0 5/ 13,800 0.0 0.9 - - - - - - - - - - - - - - - - - - - - - - 5 3 2 0 5| 13,800 0.0 0.9
= 7 omy 1 0o 0 1 1] 15,300] Al.3] Al3 - - - - - - - 1 0 0 1 1| 18,400| Al.1| Al.1 - - - - - - - 2 0 0 2 2| 16,900| Al.2] Al.2
ENEa i) 20/ 0 2 2] 10,800 Al4| Al4 - - - - - - - 1 0 0 1 1] 19,200/ Al5| AlS5 - - - - - - - 3 0 0 3 3] 13,600 Al4| Al4
o T 200 0 2 2 9,800 Al.l] Al.l - - - - - - - 1 0 0 1 1| 13,200 Al.5| Al5 - - - - - - - 3 0 0 3 31 10,900 Al.2] Al.2
[ Fomy 20 0/ 0 2/ 2 8700 Al2| Al2 - - - - - - - - - - - - - - - - - - - - - - 2 0 0 2 21 8,700 Al.2| Al2
BT #F &6 5 42| 4| 8| 30| 42 9,700/ A1.1| A09 - - - - - - - 13 0 0 12 12/ 14900, A17| A16 1 1 0 1 3,500 0.0 00| 56 4 9| 42| 55/ 10,800, A12| A10
1= 180| 56| 52| 70| 178| 24,400 AO03 0.1 2 1 1 2 6,000 A1.7 A09 VAl 14| 23 33 70| 48,000 A0.6] AO0.1 13 12 0 13| 15,100 0.4 1.1] 266| 71 88| 104 263| 30,100 AO03 0.1




